»

» 9

4.1

over load

(Nonlinear Programming’)

? (#)

(Phase Shifter

Distribution Factor, FSDFs)
l

4.2 16,73
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' *8 3
i
*
® Cr:
i ] (Equivalent
circuit) M 4.1
Viit; K:1 Vi
fi 4.1

4.1
vm (Voltage Source)
|. (Tapped Current)
4.2 (a)

(b) (Current Source)
v
' 1i V:s Ii . }
® | (a)
Y.

49 ()

Viz (4.1)

AN -]



| ¢

Im (r+ 1) (4.2)
= | (4.3)
|1, (Equivalent Injected Current)
i
. (Equivalent Injected Current)
J
| 1. 11 fi
(Equivalent Injected Power) 2
= Vtll
sJ. = Vil
fi G <« B 61 - 0j 3
(4.4)  (4.5)
. = pd4. = ViVyBis Sind»,, cos(61 - 8 ) (4.)
Sj. = Pj. = -V.VABA sintjj cos(01 - 81)  (4.7)
VItV, ' i ]
e 4 MX1)
-]
41 -]
61,8 | j
)
61 - 8 b
=4 cos(816J) =1 (4.4) (4.7)
Il Xt (4.8)
P X1 (4.9)
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(N outage)
A7 MReactance MatriX)
o P-q
: N
N N
A (zblW) add branch add link
, - 12:
P reference bue p-q branch
ZEl - ZB1 i —1,2,..,
I q (4.10)
Zaa = ZDc1r 1 Zpalpa
P reference bus p-q branch
Z11 —0{ —12«..1In
| (4.11)
Laa * ZPClea
P reference bus p-q link
Zil=Zy1 - Wi {0 = 1«2«... «m
i (4.12)
LY = 1,4 - I ¢ Zpalpa
P reference bus p-q link
Zi1l ——al « 1 — 1«2y sees
i * 1 (4.13)
N1 Nal " Aptr | p«
fil (4. 14)
Z13(mod 1f 1Bd) - liJdcbifors «lamlinBtation) ~ 211213/ 711
1) 1629¢e¢9m (4.14)
A A A
{( (ZBa _ap) (4.10) (4. 14)
L X

A (12
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(Phase Shifter
Distribution Factor 1dBa413) |

P-q
5
= (- xtIx1L) (XIB+Xja-X1a-XJB) (4.15)
d1,. 1, = =« L X,,-- 0L - L * Ny
+ (" 1)
= (Ux.JH x™-X, 1-XJJ+2Xt]) (4.16)
XtJ [ -]
X pa ? (P.q)
?
17
(FSDFs)
!
4.3 [



Po=1 1 _,%#R, (4.17)
pg=1
b
= Z (VAxU/VIa) # Rpa (4.18)
pg=1
= Z C(PDa2+Qpa2)/V 1a2] * R] (4.19)
po=1
P-q
VApa (Apparent PowerH
P-q
Vi p-(
R,a . (Resistance” p-q
b
I j
(4.19)
( (Decoup le)
Ay 1]
P-q

PLp<l = (Ppa+APBEf)2+(QD0+AQpa)2:/( VpatAVpa)2*Rpa (4.20)

i1

41 (4.20)

L»a - (PPa+APPa) *K (421)
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b
F=PL=2 (PDataPde)a*RN (4.22)
pg=1
(4.22) (Objective Function)fi
(Minimi zat ion) (Optimal
Value) (é1J)
(4.22)

b
min PL = min (Pce<i4aPMUD) a”Rpa (4.23)
Ab1] A*1J pg=I

P-q ,pqg =1,2,...,b
] A S | I I
PKa p-q
load flow
(base case)
aPka P-q

g

A<t> 1

AP 2 = 9Paale<t>] " 9P ,al9<Pk

(4.24)

dS(FSDFs) (4.24)
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APDa = 2 (dp-> 1] * A*j) (4.25)

(4.22) (Limit)
Minimization
(Nonlinear Programming’) 3 (Constrains)
Linear inequality constrains (4.22)

b
F =2 (PBatAPBa)a*RD, + 2 A (P"aP P 1MI>x)2 (4.26)
po=1 I

P_+APDa N p,.. 1.,

A Penality Factor

pg
1
o

. Optimization (4.26) !

m b
2 (2R d d , +2A dl d, ) A
1j=1pg=1 b I
|j*t =-2P R,d...-2A(P A, . )d.
pg=1 |
b
-2(2 (R,a dptl.. dBa>t + 2 A d[iB d,, 1)Adt
I pg=I I

1,2,...,m (4.27)
*t 5t



<4.27) I
(Optimal Value)
(4.27)
2
? )
b
2
?
| 2
?
1 2 (4.27)
m b b
“Z (Z R_ digeor pae13) AP10 = Z Py Ry doa
ij=1 pg=l pg-=I
— 19290 0m
m
1]
Pq
RO p-q
d»a.ij F DF D-Q

-]
At i-]

?

47



fi p-q
(base ease load flow)

(4.28) A
A gis = B
A 1#
H m*|
B 1*1
b
ALl = 2 Ry d®act Gpaet
. pq:l ) .
[} b [ ] (]
A1, = S Rca dpa.l d a'T
pg=1
b
At = 2 R d,gupdg,.
. pq:]_ t .
. t ' .
' b t "
Amm 3 2 Rtoeg d a'TOdpa"|O
pg=1
b
» B1 = 2 Pya Req Oy
. pq:l . .
. . . t
. b . .

B]O = -2 ppa R»a dPalm
pg=|
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(4.29)
§ 7
A:143 ?7 A B
?NMA ? B 7
? <4.30) PR
11 11 -1 |
) = A B
4.4
?
(Optimal Value)
4.3
1
N
iteration error
setting
2. 7 - 2
line flow
3.
i (4.28)
4. ? (4.10)
(4. 14)

(4.15)  (4.16)

15



10

» » “oag)flfnja
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6.
1. fi (Optimal Value)
(4.28) (4.30)
8.
9 5
9. (Ybii )
(3.1) (3.3)
10. ' 1 iteration
iteration
converse
11. iteration iteration
y converse

iteration 5 12

12. CONVerse

max. error error
setting converse
9

<Yhi;l) converse 13

13. line flow ‘

file
14,
5 15

15.

4.5 » I '
6
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2-3 2-5
fi ' 2
4§
?
a (base case)Y\
' ? 3
451 & 1
' base case)
? 2-3 2-5
' 2 0
3 = °*00 deg.
4B = 0.00 de?
*k% \OLTAGE AND POWER GENERATION ***
I
bus = bus voltage 1 generation 1 . load -1

Cdtype Topu 1 kv 1 deg. I MWO1 WARI1I W IMR 1

11 31 10601 243.801  .001 132.22! 99.831 001  .001
21 21 10001 230.001 -2.091 40.001 -40.571 20.001 10.001
31 11 3eoi 225391 -4581 001 001 45001 15.001
ar 11 .71 224511 -4901 001 001 40001 5.001
51 11 9521 218961 -5.831 .00  .001 60.00! 10.001



*xk |INE FLOW **+

Lline Ifrom 1 to Iflow from bus pi flow to bus g 1 ZLine loss

11

~N o o1 B W N
— —_ —_

1 bus 1 bus
lno. 1p 1g 1MW 1 MRIMW 1 MRLIMW I MRILMA

1 90121 77.131 -87.621
1 42091 22701 -40.461
1 2751 » 3401 -24.371
1 27801 10681 -27.621
1 55001 4971 -52.631
1 19841 5. 8! -19.791
1

1411 9.051 -7.371

11 2
11 3
21 3
20 4
21 5
31 .
41 5

I I ! —| I

-69.621 2,501
17821 1531
2281 31
-0.091 101
-1301 2451
4961 04l
-8.701 041

1-1line
Ichartf.

1911°
4891
1121
1.601
3671
131

341
I

001
001
001
001
001
001

001

**% TOTAL SYSTEM SOLUTION ***

WV
bystem isneration  172.22
system load 165.00
ling charffintf 00
shunt capacitor 00
system oss 1.2182
mismatch 0003

«~« FOMR LOSS IN BAE CAX =

WAR

% 26

40.00

00
19.2641

0007
72182 WV
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4.5.2  Alfi 2

Vv 2
2-3 2-5 1 v fi

023 = -1.748 deg

§p = -6.318 deg

g

*** VOLTAGE AND POWER GENERATION ***

bub 1bue 1 = voltage 1 generation 1 load

no# Itype 1 pu 1 kv,

31 10501 243.801
1 21 1.0001 230.001
1 11 .9801 225.421
| 11 37710 224.661
1 11 9621 221.181

Gl B~ W N —

*x% | INE FLOW #**
i — 1

—> 131.391 100.501
-1.771 40.001 -39.341
-5.731 . 001 .00l
-6.161 001 001
-10.071 001 .001

! |l -

Line Ifrom 1 to Iflow from sue po flow to bus q i .line 1o..

1 bUE 1 bUE 1

2

1

Cdeg 1ML MR MY LMR 1

001 001
20.001 _ 10.001
45.001  15.001
40.001  5.001
60.001  10.001
- | 1 1
v line 1
sharg. 1

no# | p 1la .M I WRIMW I MWRrW I WRIMR 1

11 11 7, 1 81.281
21 11 3 1 50.111
31 21 31 2220
4 1 2 1 4 1 42.591
s 1 21 D1 34101

31 41 25001

7 1 4 1 5 1 27.141

79.751

20.741

4.031

9.751

9.711

2.571

3.681

-78.971

-48.021

-21.981

-42.211

-33.091

-24.931

-26.911

-72.831

-14.461

-3 .01

-6.311

-8.201

-2.371

-1.801

2.311
2.091
.311
.381
1.011
071

241

6.921
6.281
921
3.441
1.511

201

1.891

.001

.001

.001

54



#** TOTAL SYSTEM SOLUTION **=*

MV MAR
syEtem generat-ion  171.39 61.16
system load 165.00 40.00
line charging .00 .00
shunt capacitor .00 .00
byctei& loeb 6.3993 21.1602
mishatch .0059 0022

we put pat. at liné No.= a angletdeg.) = -1.74800
we put p&t. at line No.= 5 angle(dBg.) = -6.31800
**¢ POAER LOSS is = 6.3393 MV*§#*
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4.5.3  fli 3

? 2
2-3 2-5 (Jaa
+10 B0
M3 = -1.900 deg"
B = -6.318 deg.

*** VOLTAGE AND POWER GENERATION ***

bue LHUE 1  hus voltage 1 generation, 1 load 1
no. Itype 1 pu 1+ kv 1 deg. 1T MV 1 MARI1 W 1MR 1

11 31 10601 243.001 001 131401 100501  .001 .00l

21 21 10001 2a0.00i -1.761 40.001 -39.331 20.001 10.001

31 11 9801 225431 -5.771 001 .001 45.001 15.001

41 11 9771 224681 -6.191 00l  .001 140.001  5.001

s 1 11 9621 221.171 -10.061 ~ .001 . .001 60.001 10.001

-1 I I | ! 1- I

*kk LINE FLOW ***

-1 — | [ 1 —f——===2 y plttefotuglh | R j [E— y IR— 1
line Ifrom 1 to Iflow from bue pi flow to bue q 1 line lose 1 line 1
LhuE 1hbus 1 tJgpP1 *

n.1Plg1WwW IMWRIMW IMWRIMW 1MWRIMRI

11 11 21 80991 79.841 -78.681* -72.931 2301 6911 001
21 11 31 50411 20.661 -48.301 -14.321 2111 6341  .001
al 21 3121431 4261 -21.141 -3400 291 81  .001
41 210 41 42991 9711.-42601 -6.211 391 3501 .00l
51 21 51 34271 9651 -33.261 -0.121 1.011 1521  .001
61 31 41 24441 2721 -243711 -2531 .06  .191 '« .001
71 41 51 26971 3741 -26.741 -1871 231 181  .001
I

I I I I I e — - | I I




*** TOTAL SYSTEM SOLUTION *#*

MWV v
system generation  171.40
system load 165.00
line charging .00
shunt capacitor .00
system 1oss 6.4002
mi smatch .0051

MR
61.1?7
40.00

.00
.00
21.1751

.0019

we put pst. at line No.= 3 angle(deg.) = -1.90000
we put pst. at line No= 5 angle(deg.) * -6.31800

* POMR LOSS IS = 6.4002 MV«



4.5.4  flfi 4
) 1 2
» 2-3  » 2-5 VIS *a. fi
-10 A $23
$33 - -1.748 deg.
$2B = -5.700 deg.
sy
*** \/OLTAGE AND POWER GENERATION ***
I
bus 1hus ! bus voltatfe 1 generation* -1 1Dad 1
Cdtype Topu 1 kv 1 detf 1T MWWO1 MWARI1I MV OLIMR I
11 a1 10601 243.601  -.001 131421 100421  .001  .001
21 21 10001 230.001 -1.791 40.001 -39.64 1 20.001 10.001
a 111 9801 225.441" -5.661 1.001  .00L » 45000 15.001
41 11 9771Z724.681 -6.071 . .00  .001 40.001 5.001
51 11 %11 220971 -9.661 001  .001 60.001 10.001
I 1 I 1
¥*¥x | INE FLOW ***
L | I 1 o) S e !
ling Ifrom 1 to Iflow from bus pi flow to bus g L line loss 1 line 1
Lhus 1hus 1 harg. 1
noolplg 1MW 1IMWRIMW 1IWRLIMW ! WRIWR I
11 11 21 6L771 79.611 -79.451 -72.651 2,321 6.91  .001
21 11 31 49641 20811 -47581 -14.621 2,061 6.19  .o01
al 21 312151 4191 -21.261 -a.31 291 .81 .01
41 21 41 41501 9731 -41.221 -6.451 361 3281 001
51 21 51 36320 9.0BI -35201 -7.401 1121 1681  .001
61 31 41 zaedl 2951 -23781 -2.771 061 181  .00<
71 41 51 25000 4221 -24801 -2.601 200 1621  .001
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***% TOTAL SYSTEM SOLUTION *=**

KW MR
Eyeten generation 17142 60.77
systen load 165.00 40.00
shunt capacitor .00 .00
EyEtem loce 6.4187 20.7738
si Snatch 0031 0014

We put pet. at ling No.=-: antfle<de*.) - -1,74800
We put pet. at line No.= 5 angTe(detf.) &« -570000
«POWER LOSS IS = 6.4187 « «
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60

« 2-3 2-5 2 |
1 +10 -10

H523 5 -1.900 deg.

(2B = -5.700 deg.

*** VOLTAGE AND POWER GENERATION **=* *

b 1 Lue | oue VOIta?e 1 %enerBtion , 1 load 1
Cdtype 1Topu 1 kv 1 de? 1 HV 1 KWRI MV IMR I

11 31 10601 243601 001 131421 100421 001  .00L
21 21 10001 230.000 -1.701 40.001 -39.631 20.001 10.001
a 111 . 801225461 <5701 001 001 45001 15001

Co 1 117124700 <6100 001 001 40.001  5.001
51 11 9611 220961 -0.672 001 001 60.001 10.001
j—

#x% | INE FLOW ***

----------- il
line Ifrom 1 to Iflow from bus pi flow to hus. a 1 line loee 1 line 1
1 1 bue 1hUE hsr?, 1

Ino. 1 p1Q1MW I WRIMW I WRLIMW 1 MRtWR I

1 11 11 21 81491 79.691 -79.171 -72.761 2311 6,941  .001
121 11 31 49941 20731 -47.861 -14.481 2.081 6241 001
31 21 31 20691 4421 -20421 -3621 271 811 001
1 41 21 41 41901 691 -41.611 -6.351  .371- 3341 001
1 51 21 5136501 9021 -35371 -7.321 1131 1701  .001
1 61 31 41 23280 3101 -23.221 -2.921 061 171 .001
171 41 51 24831 42711 -24631 -2.681 200 1601  .001



*** TOTAL SYSTEM SOLUTION *##

MV WAR
system generation  171.42 60.79
system load 165.00 <
line charging .00 . o
shunt capacitor o o
system loss 6.4211 20.7926
mismatch 0035 0019

it pst. at line No.- 3 engle(deg.) = -1.90000
we put pet. at line No* 5 anffle<detf.) = -5.70000
*PONR LOSS IS = 4741 My**



4.5.6  flfi 6

2-3 2-5

4>2;
s

-2.000 deg.
2.000 deg.

*** VOLTAGE AND POWER GENERATION ***

bus LhuE !  bus voltetfe
TO. Itype 1 opu 1 kv I*deg. 1 MVOL MARI MWV 1M 1

Ol B~ 2 N e
— = = =

**x LINE

31 1.0601 243.801

1 generation» 1  Jload

001 132.991 99.611 001

62

1

o

2 1 1.0001 230.001 -2.031 .40.001 -39%311 20.001 10.001

1 901 225.461 -4941 001  .001 45.001 15.001

11 9771224641 -5.051 001  .001 40.001 5.001

11 9471 217.841  -4.591 001 60.001 10.001
= —

FLOW #**

l-——-- - - - l-————-2z- I-—====== l-mmmm- o-===- I l-———— - |
Ifrcm  to Iffow from bus pi flow to bue g 1 line lose 1 line 1
Lhus hus 1 harg. 1

qlMNlWARlMNlWASlNWlWARlWAR%
121 68371 77.651 -85.901i -70.25!« 2461 7.391 .00l
131 44620 21961 -42.861 -16.67! 1761 5281 .00l
2 31 11141 7331 -11.031 -7011 111 321 001
241 2971 10391 -29.571 -e.eol 200 L1791 001
251 64991 3231 -61.601 1851 3391 1381  .001
3 41 8891 868l -8871 -863L  .020  .051  .001
4 51 -1551 12231 1601 -11.851 051 381 001




*** TOTAL SYSTEM SOLUTION *#*

MV MAK
system generation  172.99 60.29
EyEtem load 165.00 40.00
line charging .00 .00
shunt capacitor .00 .00
system loss 7.9805 16.5914
mi smatch .0049 3.7032

We put pst. at line No.= 3 anglefdeg.) = -2.00000
we put pst. at line No.? 5 angle(deg.) = 2.00000
POARR LOSS IS = 7.9805 MV«
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4.6 A

ft 2 2-3
2-5 , flu 6 ] [
4.1
(*1)
(deg.) (MA)
1 *23 = 0.0 1.2182
¥2* = 0.0
2 %23 = .1%748 6.3993
¥2* = -6.318
3 ¥23 = -1*900 6.4002 €23 +10
¥2* = -6.318
4 ¥23 = -1.748 6.4187 4215-10
¥2* = -5.700
5 %23 = -1%900 6.4211 423+10
¥2* = -5.700 *3 10
6 *23 = -2.000 7.9805 423
*2B = 2.000 €26
4.1
1 0.00 2
]
2 @3 = -1.748 B = -6.318
2
2
7.2182 MW

6.3993 MW 11.3
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2-3
2437 MV Iflu 21.98 MV 2-3
0.37 MV J 031 M 2-5
2-5 52.63 MV 33.09 Mw
2-5 2.45 MW» 1.01 MV
2 2-3 2-5
5
1-2
1-3 2-4
A
fl {
&2
4.2
(MW) (MW) A Loss
(MW)
-2 87.62 78.97 2. 50 2.31 -0.19
1-3 40.46 48.02 1.63 2.09 +0.46
2-3 24.37 21.98 0.37 0.31 -0.06
2-4 27.62 42.21 0.18 0.38 +0.20
2-5 52.63 33.09 2.45 1.01 -1.44
3-4 19.79 24.93 0.04 0.07 +0.03
4-5 7.37 26.91 0.04 0.24 +0.20
0.80

4.2



4.2

0.8 MW
2
& 6 4.1
1 ?
9 ?
&
? ;
”
? 7
?
1-2 2-5

£13 = 1.313 ¢B = -5.871
6.448 MV

2-5
2-3 2-5 1-2
2-5

MV

2-5



(Optimal Value)

2

2-3

2-5

67



	บทที่ 4 การลดกำลังไฟฟ้าสูญเสียในระบบไฟฟ้ากำลังให้น้อยที่สุดโดยการควบคุมการไหลของกำลังจริงด้วยตัวเลื่อนเฟส
	4.1 บทนำ
	4.2 การคำนวนค่าปัจจัยการกระจายตัวเลื่อนเฟส
	4.3 การหามุมของตัวเลื่อนเฟสที่เหมาะสม
	4.4 อัลกอริทึมของการลดกำลังไฟฟ้าสูญเสียของระบบไฟฟ้าด้วยตัวเลื่อนเฟส
	4.5 ผลของมุมที่เหมาะสมของตัวเลื่อนเฟสต่อกำลังสูญเสียของระบบ
	4.6 วิเคราะห์ผล


